
1 1÷2Æ 10,000 110 25 560 200

2 3÷4Æ 27,000 1490 40 3360 1600

3 1Æ 56,000 3420 40 9200 2700

4 1=5Æ 1,55,000 9600 40 20700 6500

5 2Æ 3,20,000 21600 40 42300 12000

6 3Æ 8,81,000 49500 40 131400 33000

7 4Æ 1,810,000 97200 40 250200 62000
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9

10 ;fj{hlgs wf/fsf] ;fljs ?= 990.00 sf] ;§f dxz"n ?= 1,600.00 sfod ul/Psf] .

11 (n dxz"n ;fljs adf]lhd g} kfgL dxz"nsf] 50% yk x"g] u/L sfod /xg] ul/Psf] .

2070 efb| 1 ut] b]lv sfod ePsf] cGo z"Ns tyf b:t"/ tflnsf

1

2

3

4

^}+s/af^ kfgL laqmL 5000 ln^/ Ifdtfsf] b/ ?= 1773.00, ;]jf z"Ns 10% ;d]t hDdf ?= 

1,950.00 sfod ul/Psf] .

^}+s/af^ kfgL laqmL 6000 ln^/ Ifdtfsf] b/ ?= 2,018.00, ;]jf z"Ns 10% ;d]t hDdf ?= 

2200.00 sfod ul/Psf] .
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